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ECONOMICS (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to and if answered in much
longer or shorter than the prescribed length, marks may be deducted.
Graphs/Illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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@WUus—A / SECTION—A

1. fefafes § A 7@ T 1 W @ 150 Tl § AT ¢

Answer the following questions in about 150 words each : 10x5=50

(a) T 3 fafdw o ¥ et y-tea B sefferd womeh 3iv Yaqard yoredt % s ST e

Distinguish between the Zamindari system and the Ryotwari system of land
revenue under the British rule in India.

(b) TEAA-YE 9RA § ‘FR ¥ rEEriE’ % grdE AW e e w37 fas Akl
What were the major impacts of ‘commercialisation of agriculture’ on Indian
farmers during the pre-Independence India? Discuss.

(c) ard & Rty R ¥ OnE vt ‘-’ Rrg & ol wfom @ 47 favemm
s

What were the economic consequences of the ‘Drain of Wealth’ theory as
practised during the British rule in India? Analyse.

(d) ST Y W Tt S e @ o aE R == iR
Why did the British lead to the destruction of India’s traditional cotton
industry? Discuss.

(e) Tofew wra & sufdsfi % i &1 @i Hf

Describe the phases of colonisation in British India.

2. (a) 71 9rd § Y Jeewar § gum % fg yft gum smews 7 fas A
Is land reform necessary to improve agricultural productivity in India? Discuss.
(b) wmgﬁﬁaﬁaﬁ%aﬂtﬁsﬁisﬁﬁqhﬁwaﬁmmmﬁvwml

Critically analyse the constraints of public and private capital formation in
Indian agriculture.

(c) etFo-E sEfy & dem s Priem % e T &3 =1 A7 fad=m Ffw)

What were the thrust areas of economic planning during the pre-liberalisation
era? Discuss.

3. (@) ¥RA # eha @R % R iR v w1 e fifve)

Examine the objectives and components of the Green Revolution in India.

(b) TRA TR R U e R wreet 3 YAl % SeSE WA § 3 H S-TeE Sl
it o g 27 e Ay

Why does inter-State disparity in income persist in India despite plethora of
development initiatives undertaken by the Government of India? Analyse.

(c) wrdE sferaen # @ T FER AT F wHe AW Al ged Fhied #1 Ig@ hif

Point out the main challenges faced by the small-scale and cottage industries
in Indian economy.
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4. (@) WA A T AR ST B AT F R A= Rl swm § s §7 R St

What are the methods used in measuring poverty and inequality in India?
Analyse. 20

(b) ¥ia # urfior 3R weh e fara Y O wm w § BRE weR dGrRE Rm 27 R
e

How have rural and urban economic development contributed to poverty
. reduction in India? Discuss. 15

() ¥ra # foFzliga friem sfem % Rw-Rdw #n §7 faw 6

What are the guidelines of the Decentralized Planning process in India?
Describe. 15

@uis—B / SECTION—B

5. fefifen & @ v% v ®1 S @ 150 vt § A

Answer the following questions in about 150 words each : 10x5=50
(@) ¥RG GEHR I A 6 76 TR TEEHU G F geh | g4t i)

Discuss the components of food processing schemes introduced by the
Government of India.

(b) F AW W gRH ¥ Wewa § % wra i Ry =mw iy, 2023-2028 T F =R ARy
1 Fgran ah 3R AR F G FoN? FRO Fa1EY)

Do you agree with the view that India’s Foreign Trade Policy, 2023-2028 will
boost country’s trade surplus and generate employment? Give reasons.

(c) ¥ra ¥ ‘gt fyao yomeht (do o THo)' i Gt HiEl 1 §7 = Hif
What are the structural shortcomings of the ‘Public Distribution System (PDS)’
in India? Explain.

(d) vra H TFEw #fy F v 9 =mEw g it

Justify the importance of ‘Disinvestment Policy’ of India.
(e) ¥l HeraTe o forq weg wd Fa1 a (fo o Ao) Gurd F wn Pkl &7 frdn Fifvr

What are the implications of the Goods and Services Tax (GST) reforms for
Indian federalism? Discuss.

6. (a) ¥Rd ¥ JreNfF oS F 71 wrw &7 goms 1991 7 Hifta 7€ Neifi Hfife 6 38 Rstw
B FA A i F AT e R
What are the causes of industrial backwardness in India? Critically evaluate

the role of the New Industrial Policy, announced in July 1991, towards
correcting such backwardness. 20
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7. (a)

(b)

()

(b)

()

a§ 1995 # fiva AR T (FHo Ao o) F rwla FN W wwmaia fF T wwehdl &
FRU YRG | 93 I I9E1 Y g AR

Examine the implications for India due to agreements on agriculture that are
signed under the World Trade Organisation (WTO) in 1995.

Wi ¥ forr TP AR A i e 27 AR IR H GW N F fA¢ wER g
T UEd H T R7 =R Hif)
Why is a National Employment Policy necessary for India? What are the

initiatives taken by the Government to facilitate employment generation?
Explain.

mﬁmmﬁmmw%?mﬁmm%mmmw@@
#Hifse)

What is the sectoral composition of India’s national income? Mention the most
important source of national income in India.

yrda T ) ol aieda % Fn e o el #7 @0 e A @ v 7 e A
qRfeafrt § gt @ aRed-aar saed #7 feem i)

What are the advantages and disadvantages of full convertibility of Indian
rupee? Do you believe that capital account convertibility is feasible under the
present circumstances in India? Discuss.

i = TR ¥ e sl o & (3o o 31mgo) N WiRlife F #7 WRa B farfma =
#fF § T ¥ giEdal W == A

What is the strategy of the Reserve Bank of India (RBI) for exchange rate
management? Discuss the recent changes in India’s Exchange Rate Policy.

8 i B e R % R e el 5 iy R R @i 87w
EEi

How do the current Finance Commission’s recommendations align with the
Government’s Fiscal Consolidation goals? Elucidate.

m-gm%wmmﬁmmﬁmmﬁanﬁm
s

Why was the public sector given a leading role in industrial development
during the pre-liberalisation era? Explain.

g TR F) Ter 2 F fig vl o &% (e Ho 3go) T YE A T TEEl W
w41 Hifm|

Discuss the initiatives launched by the Reserve Bank of India (RBI) to promote
financial inclusion.
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